stress test

1.

ad x b xa¥ xbt=a"0 4 W, z —y 2 S +5}
ofet,

ohe % A4 A7 oA W3 B sk (2,
a#%0,b£0)

@ a*xatxa @ a'®~qa?

@ (a3b2)3 - (b3)2

(52 — 2y)(—3y) & Zrks| oFH?

D —15zy — 6y> @ —15zy — 5y?

® —15zy + 6y> @ 15xy + 5y

® 152y + 6y>

ok ol AR Bol s 2y
Holg x, y ofl digt Aeg
!
o
sh2A vhehd 2127 ;
3z
|
\
\
\
\
\|Y .

@ (2z +2y)(3z + y) = 622 + Bzy + 2y
@ (2z —2y)(3z +y) = 62% — 4wy — 2y>
® (27 +2y)(3z — y) = 622 + dzy — 29>
@ (3x+2y)(2x — y) = 622 + 2y — 2y°

® 3z —2y)(2r +y) = 622 — 2y — 292

6.

8.

9.

4 o
(122%y* + day) + 3%y £ 7tds] ohH?
® 922y +3 @ 92%y + 3zy
® 923y? + 3zy @ 122%y + 4

® 1222%y + 4ay

4a? + 6ab _ 3b% — 4ab

a b
D 3b @ 8a+3b ® 8a+9b
@ 9b ® 8b—9b

X _
2+ 2y =5y W, o o ghg Fotofeh

(22 —3y+2)(x+3y —2) & AN 2y o] AE?

-6 @-3 @0 @ 2 ® 3




10. (4ay — 23y — 3zy?) +

G BE A5 T Fotelet

. 1 . _
] L T

A%-2] e a 2 317 o], (3] ] WL

15 11 1
= = 11 1 =
Oz @5 O @15 O
12. b5 ALt T &2 A& BF 1=y

® —(a—5b) =a+5b

@ —2(-3z+y) =32 —ay

® 2x(3x — 6) = 622 — 62

@ 3z(2z — 3y) — 2y(z +y) = 622 — 11y — 2¢4°

® —z(x—y+2)+3yRr+y+4) =
—x? + Txy — 22 + 3y? + 12y

13. 50 -2y = do+y—-3 LW, 50-2y+5 5 z
e Aoz vehfolet,

14. A AL o438t (z — 7)(52 + a) & A/}

o
o A%7} ~30 olek. ofuf 44 a ] gHE T3}

15. 42 +3y =24 W, 5(x —3y) — 24z — 3y) & z °ll
et Ao g2 viehfofet,

16. oh3 Tt o] W] 7tz o] Zojr} 3a , A2
Zol7t 20 Q1 AL&HA 2] Bul7} 18a% — 154%b =L
gttt a =6, b=4 @ W, &S 5ol

17. thg % A4 A3} ulA] U} e s

@ a® x a?

@ a2+a2+a2+a2




18. (—322y)2+ [ | x(2ay?)3 = —1225° D w), [ Jor | 23. F M a, b oll Sl #, x & a#b = a+b—ab,

axb=ala+b) 2 A9t a= -2, b=2—4y 4
o, (a#b) + (axb) & z , y off T3 A o2 LJepfiH?

of ke 4L

O —6x2y? @ —6x2%y* ® 622y?
D© 22—y @ z%2 -4 ® 222 —y

@ 62%y* ® 1222y
@ 222 — 2y ® 2% -4y
19. By — 8a?y? - :
Ba(z—y)+ LY 2 s 92 ), 02
—2zy 24. (3r — 2y +42)(2z — 3y — 2) & SIS W, 2y
A2 Fsholat. ASE A, 229 A5E Bt T o, A+ B9 27
O -8 @ -13 ® -18
@ 5 ® 8
20. 2 = —1,y = 24 o, (302%y> — 1522y) 1522y —
9ry? + 122%y* o] 710
_— = =7 .
3212 o % 2 o =139, (1a+ gb) (la— gb) 9
2° 737/ \2" 3
w27
® —28 @ —26 ® -12
@ 4 ® 8 ®-9 ®-8 ®-6 ®-5 ®&-3

21. @ -2)(x+k)=22+ax+b ¥ W, 2a+0b 2 A2?

D 2 ®@ -4 ® -6 @S ® 10

22. A=2(22+1), B= (823 + 222 — 62) + (—2z2), C =
(2z%y%)? + (22°y®)2 otk A—2B—{A+(B+C
£ 9] stdle o 2 o Aot e o=

ot

~—
L

@ 10 @ 11 ® 12 @ 13 ® 14




